N licitatie-publica.ro

PACHET PIESE REPARATII UTILAJ

I.D.: 50484802
Data 09.10.20 Coduri CPV 34900000-6
publicarii
Pretul 664,20 RON - 664,20 RON
estimativ:

Descriere: BEC H7 24V70W FOERCH-10X10.08,SURUB M16X1.5X060 SASIU-16X6.72,PIULITA M16X1.5
SASIU-16X2.94,PIULITA M12 ZN-20X0.34,SAIBA PLATA 12 ZN-20X0.17,SURUB M12X40 8.8 ZN-
10X1.26,VASELINA 4KG LICA EP2 PRISTA-1X69.75, SAIBA PLATA 16 ZN-32X0.42,COLIER 12-20-
6X1.68,SPRAY PORNIRE 400ML MOTIP QUICK-1X13.45,LAMPA STOP 304X103 MUFA STGL2363-
1X83.19,LAMPA STOP 304X103 MUFA DR L2364-1X83.19,BEC SEMN 24V 21W FOERCH-
10X2.52,BEC POZ 24V 5W FOERCH-10X2.52,BEC SEMN 24V21W5W FOERCH-10X3.36, SURUB
M8X50 8.8 ZN-8X0.84,SAIBA PLATA 8 ZN-8X0.084,PIULITA M8 ZN-8X0.17,ARC CAMERA FRANA
RABA -2X10.08



